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SCHOLARS ACADEMY

c)

a)
c)

c)

a)
c)

a)
c)

General Intelligence and
Reasoning

. %ﬁgﬁﬁr@awﬁﬁqwﬁﬁﬁﬁﬁwﬁmwﬁ
|

In the following question, select the related letters
from the given alternatives.

FAN:MZU::LIP:?

FGA b) KRO

ANP d) TsQ

ﬁ%ﬁ@au&rﬁﬁqwﬁm‘fﬁﬁwﬁmmaﬁ
|

In the following question, select the related number
from the given alternatives.

46:24::54:?

30 b) 24

20 d) 36

%ﬁgﬁ%@awﬁ%qwﬁwﬁﬁﬁﬁwmﬁ
|

In the following question, select the odd word from
the given alternatives.

HJSb road
DR car

b) TP Truck
d) ¥HcX Scooter

frafafed vy # fow ¢ foecdl & & faww orary o1
In the following question, select the odd letters
from the given alternatives.

GIM b) HKN

MPS d) NQU

Fafafea uy & ke v faweal & ¥ @ 8@ g
Hifere|

In the following question, select the missing
number from the given alternatives.

30, 68, 130, 222, 350, ?

504 b) 520
476 d) 448
e CD TS MN A BICTE, @S MN TS TRA BT R,

WS AB WS CD ¥ BeT § 3R TS MN TS PQ & BieT
T Y BT WS P -4A18 ?

Seg CD is shouter than Seg MN, Seg MN is shorter
than Seg TR, Seg AB is shouter than CD and Seg CD
and Seg CD and Seg MN is shorter than Seg. PQ
Which segment is the shoutest ?

D b) MN
PQ d) AB
A, B & far & fUar & ag 9t it 31 3FR B & fUar

PIHIS UE TSI 8, I A BA TPa R a=fia g ?

a)

c)

a)

c)

a)

c)

10.

a)
c)

11.

a)

12.

A is B 's father's father's daughter- in - law 's
daughter. If B''s father has no brother than how is A
related to B ?

arelt Grand-daughter
Al mother

b) 113ﬁDaughter
d) dg- sister

frufifEa el 9 4 98 W gfg St faw 1T 2
P &RT BT AN HIP g1 a1 ol Fha |

From the given alternative words select the word
which cannot be formed using the letters of the

given word .
RECUPERATE
acute b) trace
price d) erupt

gfers o1 31 '+, - BT 3 rxr 4 BT 3k 1 qUT 1!
Praf - g, -

If '+’ means' + ', - 'means 'x’' '+' means '+’ and 'x’
means ' - ' So

20+ 12x4 +8-6 =?

26 b) 29
32 d) 379 ¥ ®I T8 None of
these

gfE 724 20 = 46 3 1 $ 27 = 14 10 $ 44= ? BT
I 10 BN ?

If 72 $ 20 = 46 and 1 $ 27=14 then find the value of
10$44 =2

34 b) 54
27 d) 17
fau T faweul ¥ & g e gl
Select the missing number from the given
responses.

7 4 2

6 2 5

1 -6 )
2 b) 11

d) 10

Uy ¥ 3 By o T g s emt & fAsed 1 iR 1
e T €1 3MUS! AT @ P S FY9 g € 9
98 9HId: 3id 9 ¥ 3 udia 8ia 81 sy
foofa 3= @ 9 few e fepuf & @ dF-a/eH-9
fAf3a ©u § Sy gR1 TG N1 1 gwar 8/9eq
g alk s e

CAE]
Il: 7 fafeerar aiare™ €1
e

I: g $2 HiETER § |
n: @it g FR E |
In the question two statements are given, followed
by two conclusions, | and Il. You have to consider
the statements to be true even if it seems to be at
variance from commonly known facts. You have to
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SCHOLARS ACADEMY

decided which of the given conclusions, if any,
follows from the given statements.

Statements I: No cats are dogs

1I: Some cats are carnivores

Conclusion I: All dogs are carnivores

Conclusion lI: All carnivores are dogs

a) $ad FHY | GEl gonly b) Had fsHY 1| T@ gonly

conclusion | follows conclusion Il is correct

c) aFl fApy | 3R Il WE d) T ey | g g A&

%Both conclusions | and Il ey Il Neither
follow conclusion I nor
conclusion Il
13. Fafafaa & @ s9-0 S onefa uy snefa &
e B qRT B2

Which answer figure will complete the pattern in
the question figure?

a) b)

c) d)

14. & T anpfaal § & 39 pfa &t g orad uy
arpfa fAfga g1
From the given answer figures, select the one in
which the question figure is hidden/embedded.

a) b)

c) d)

15. gfe T IUUr B MN J@T W @M A, d@F T IW
Wﬁﬁﬁq-ﬁwﬁmmwuﬁﬁw

If a mirror is placed on the line MN which of the
answer figures is the right of the given figure?

a) b)

a) Passage
c) Patience

c) d)
gt & dra W e 32
Which of the following Venn diagrams represents
Teachers?
a) ﬁ% b) :
, OO N
R W 3TAT?
From the given alternatives, according to dictionary,
b) Pastime
d) Pathetic
In the following question, select the odd number

16. Fafaf@a & & s=-a1 39 faa afgasit wmisi ok
the relationship between Women ,Mothers and

17. U 7 fasreal # 9, AP & IFIAR, B AT G
which word will come at THIRD position?

18. Fufafea vy # fiw ¢ el § & faww B0 a1
from the given alternatives.

a) 4-21 b) 7-54
c) d) 3-16
6 - 41

19. Fofafea e & of, vufeew & welkfa #=ar 3,
Byw, efifast @) weffa svar 8, g9, fUar &t aur
3Td Ieee! B Ui Har 1 SieRt &1 HF-a1
wq%;q%fumﬁwﬁhm,vﬁma‘rmﬁ
ar ?

the following figure, square represents 60 athletes,
triangle represents engineers, circle represents
fathers and rectangle represents entrepreneurs
Which set of letters represents athletes who are
either entrepreneurs or fathers?

¥

N x

H\

a) CJ b) EF
c) CBJH d) 1CGJ
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SCHOLARS ACADEMY

20.

a)

c)

21.

a)

c)

22.

a)
c)

23.

a)
c)

24.

a)

25.

fFafafaa d 3 o9-a1 a7 T SeaR), Nl ok el
& g T R Hear 82

Which of the following Venn diagrams represents
the relationship between animals, Plants and Dogs?

O © ) é)o

& 0

T® e 3 frarier qd @1 ok gaar @ aur e a8
T B SR Yo 2 fpanfier gaar g1 iR a8
Tf3m #t 3R gear § R 8 franfier gaar 81 =
a8 U IR 3R WEFR 2 fpairiieR a% aaar B
TR T & sra sue! fRufa w2

A treakker walks 3 km East, then he turns 9 South
and walks for 2 km, then he turns West and walks
for 8 km, then he turns to his right and walks for 2
km. Where is he now with respect to his starting
position?.

5fpaficR ud 5 kmEast b) 5 fHaHier u¥dw s

kilometers west

11 framieR 9ffm 11 km d) 11 famieR 9@ 11 km

west east

T g forar T B, ored @ v ug qw 71 flig T
fapeul ¥ § a8 I fawew gfAT, Y eGP & T
Cadl

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

LG, B2, RM
A b) V
W d) X

frafafea vy 9 g T el 4 4 v g 91
I

In the following question, select the odd word from

the given alternatives.

TIdd Rice
HIDT Maize

b) ﬁ_g\z'ywheat
d) WY crop

QY BT T WHAR 22 A HI 31 afe gy &7
T 30 IFEER PI g AT , O ST af uYY HI
Sfe | | fovw fga g 2

Ayush's birthday is on Monday 22 May. If Madhup
was born on 30 October, on what day in the week
would Madhup's birthday be in the same year?

HHAR Monday b) §YAR Wednesday
R[P AR Friday d) T®dR Thursday
TP Hal # 100 faenfal & 60 Ima , 40 HIWY 3R 25

%ﬁﬁrﬂ%?lmﬁﬁmﬁmmﬁuﬁﬁ%ﬂﬂﬁtﬂ%

a)

c)

26.

a)
<)

27.

a)

c)

28.

a)

c)

29.

a)
c)

30.

a)

In a class of 100 students, 60 students drink tea, 40
drink coffees and 25 drinks both tea and coffee.
How many students do not drink tea or coffee?

28 b) 25
30 d) 32

43 fdT TF ST MU o dies o Aen ¢ SR
UGt St 31 afg 18 Safaal A Faw wren R, 8
7 Faq Taft off 3R 5 A Fo I o ot FH @
et = gl fi§@ ot 2

Forty three persons went to a canteen which sold
cold drink Maaza and Pepsi. If 18 persons took
Maaza only, 8 took Pepsi only and 5 took nothing,
find how many took both the drinks :

35 b) 21
12 d) 26

A= g uy # e U faweul # ¥ 39 J=n &I
T St SiRY / 3T 8|

Directions: In the following question, select the
number which is different from the others from the
given alternatives.

3:30
8:515

4R T Sifiue (A) 3R TP ab (R) fear T g1
a&r%uguq (A): U eht gt & W f &= F urg

|
& (R): T & F ufdral & ug A 81 7
e f[apeu &1 994 FifeE]
An Assertion (A) and an Argument (R) are given
below.
Assertion (A): Penguin birds are found in the hottest
regions of the Earth.
Rationale (R): Birds in hot areas have no wings.
Choose the correct option.
AR BEHI GI & AUTR, b) A 3R B EHI I §, Afp
A &7 TE AR 8 / Both R, A T 9t AR &1 & /
A and B are true and R is Both A and B are true, but
the correct statement of R is not the correct
A. description of A.
ATTR, AMFTRITARE/ d) A TUT R GHI 3T & /
A is true, but R is false Both A and R are false

TRYST W3 H T b+ 3R &, e flw Ia= &
3R g, fora= & qofamen & 39 da &2

How many such letters are there in the word TRYST,
which have as many letters between them in the
alphabet?

1 b) 2
3 d) 4

195 99 & 9 # faeil IR g8t @1 geai queion
AT 32

How many times between 1 to 5 o'clock do the
clock needles form a right angle?

8 b) 7

b) 5:128
d) 9:731
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c)

31.

c)

32.

a)
c)

33.

a)
c)

34.

a)
c)

35.

a)
c)

36.

a)

c)

37.

c)

38.

a)

9 d) 6

Mathematics

T Y fob A1 B UHT BRI AT S 2

In which country Ganga is called Padma?

HRd India b) SFATGRT Bangladesh
U< Pakistan d) T China

U &1 USR] Hal AT &
Where is Humayun's Tomb located

ﬁa‘% Mumbai b) PHIABIAT Kolkata
3RT Agra dy facel Delhi

3T * uTf B RITYT F9 g5 A 2

When was the 'AAP’ party established?
2012 b) 2013
2011 d) 2010

AT &1 fUPR (RTI ) fra adf amg gaman
Which year did the Right to Information (RTI) come

2004
2005

fer & fa Rt & gewens gRT 1200 90 WM &
Y U B WIS BT Q2

In which district of Bihar two 1200 years old
miniature stupas have been discovered by ASI?

T Gaya b) HTal Nalanda

3RAd Arwal d) WKaimur

7% faceht & frmmr sicdiqa wderor 2022-23 &1 Igured
e faam

Who inaugurated the Mission
Survekshan 2022-23 in New Delhi?

b) 2003
d) 2009

Antyodaya

I AEl Narendra Modi b) fafom TSH Nitin
Gadkari

fRR1ST 1% Giriraj Singh  d)  3{f8d A8 Amit Shah

TTa g # frd Iftar sarf+fy R 2023 & o

TATATE ?

Recently who has been

Kalanidhi Award 2023?

3ifdpT &dt Ambika Devi b) PHUY BTSN KS Kalidas
S a4t Bombay d) ufdd faga™ Thavil
Vidwan

Jayshree

selected for Sangita

Who is regraded as the father of microbiology? He
is also known for the discovery of bacteria.
HEgHIaEars] B 996 fPd Bl Al 82 3=
AT Bt W & forg +ft s i 82

Jonas E SaIk/Gh:IW _sc b) Dmitri Mendeleev/@ﬂﬂﬁ
Hich Hedw

c)

39.

40.

a)

<)

41.

a)

c)

42.

a)

c)

43.

a)

c)

44.

a)

c)

45.

a)
c)

Antonyvan d) Joseph Priestley/ S
Leeuwenhoek/GeHT  d Uied

By percentage, which of the following gases is
greater than the rest in the earth’s atmosphere?
gt & argrsa ® Fufaf@y # @ i 7 o1 ufase
3= ) 1 g  orftre &2

Carbon dioxide/®Ta b) Neon/13{H

SEEICEIES

Hydrogen/iﬂ%@\_ﬂ:[ d) Nitrogen/:l'l'si_gal\_ﬂ:l

Which of the following is not a green house gas?

Frafifea § 4 o9 @ v A= seu N adi o2

Ammonia /AT b) Chlorouflurocarbons
JESINESINCIEES]

Methane/ T34 d) Nitrous Oxide /AT8cH
KIERIESS

Acording to the Continental Drift Theory, all The
continents formed a single continental mass named

T e Risid ¥ R @ werdiu T
B YWS BT U A et Tl
Laurasia/@RIRmT b) Pangaea/ TfS/an

Gondwanaland/ d) Panthalassa/ YT

Which of the planets has no satellites?

T @ 5w 75 71 B SuwE T 32

Uranus/CR_"m b) Venus/Y[h
Jupiter/@??qﬁf d) Neptune/ﬁ'q?ﬁfi

The Kharif cropping season is from___.

THE FN Hg % gt 31
October-January/3{dgsR b)) February May/qv_ﬁl'f[ |
q Sadt 3

June-September/S[d ¥ d) November-

Rdar February/7d*} Y HRast

Who is universally credited with inventing the
barometer in 1643?

T ¥ {5 1643 § KRR F fTHR &1 947 97
T 32

Evangelista Torricelli/ b) Christian Huygens/

SATTITeRT SRR [ERERERIR]

James Chadwick/STHT d) Ernest O.Lawrence/ AT
3. AR

is the largest phylum of Animalia which
includes insects?

_ wroft oR1d #1 Ged ST 99 ¢ | @ i

gferfea g1
Porifera/TIRTWRT b) Anne lida/EAfrS
Mollusca/HIeie d) Arthropoda/3TdfareT
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46.

a)
c)

47.

a)

c)

48.

a)

c)

49.

a)

c)

50.

a)
c)

51.

a)

c)

52.

a)
c)

53.

a)
c)

54.

a)
c)

Hiue (CEAT) & THEY 3R Higeh & wu ¥ frd fogaa
far 81
Who has been appointed as the MD & CEO of CEAT?

. HIAINA K. Kritivasan ~ b) HTH PTG KS Kalidas

3MRAW TG Asif Sheikh ~ d) 30fd SN Arnab
Banerjee

YRA FT TG 3 A REPR P AT ?

Which is India’s highest sports award?

3G GWHR  Arjuna b) IoNd TR WA 7@ REBR
Award Rajiv. Gandhi Khel Ratna

Award
SRt RW@R d) 3y i HR world

Dronacharya Award peace award

"3 7S "RAP P IFRar 1 A ?
Who was the author of the book "Anand Math"?

I 1Y SR Ravindra b) sfPHEE  Fesi  Bankim

Nath Tagore Chandra Chatterjee
Mg TG Rajendra d) 3fegcl Hheiel Abdul fazal
Prasad

TS BT YU TR SR DI AT 2
Who was the first Governor General of Bengal?

aRd 3RIE™ Warren b) Fﬂé%ﬁ"’[LordCanning

Hesitzungs

1S AT Lord Macaulay d) Fﬂég?ﬁ:f Lordirwin

HERTY AT S VU $9 g5 A ?

When was the state of Maharashtra established?

1956 b) 1953

1960 d) 1936

AGIUT & TYH AL P A ?

Who was the first Speaker of Lok Sabha?

§aled g Baldev Singh  b) 3T YW G 3FESH Dr.
Bhim Rao Ambedkar

Shal. AEA@R G, V. d) .l M@ K. T. Shah

Mavalkar

diPe® 3ia Pei fRATE 2
Where are the Loktak lakes located?

TG Tamil Nadu b) 3SR Andhra Pradesh
FIﬁI'QT Manipur d) T[SRRTd Gujarat

fay v feaw S wART STAT § 2

When is World Water Day celebrated?

24 A4 24 March b) 22 3d 22 April
22 9} 22 March d) 22 S 22 June

The Harappan site "Manda" was situated on the
banks of which river?

FSWIS ®IW "HisT" fh 7} & R Ry um
Chenab 1§ b) Sutlej Taarsl

Ravi T d) Indus &g

55.

56.

a)

c)

57.

a)
<)

58.

a)

c)

59.

a)

c)

60.

a)

c)

61.

Mongols under Changej Khan invaded India under
whose reign?

T @ & AT Hrel A e IRESTd § WRd
TR 3mshHT fpar?

Balban dcfd— b) Firuz  Tughlaq I
UGES

IItutmishWﬁl’QT d) Muhammad-bin-Tughlaq
Hegre-faq-qiers

"Back to the Vedas”, whose statement isthis?

"33 P 3R A" 98 FU fraw1 32

Swami Vivekananda %aTH! b) Swami Dayanand

ICCEARIA Saraswati WMl gdMa
TREA

Swami Shraddhanand d) S. Radhakrishnan T3d.

WH YT e GRT TYTH O

Who was given the title of ‘Punjab Kesari'?

"ToITg FERY &1 fAare feae! fear war ur

Ranjit Singh YUTSiid g b) Bhagat Singh HTd g
Sardar  Baldev  Singh d) Lala Lajpat Rai dIcll
TER §eid Rig NSRRI

Which of the following order of planets is correct
on as per distance the increasing order from the
Earth?

7t ¥ et gt F IuR et &1 Fufafea # @
HI-91 FHH 6Ll 82
Mars, Venus, Mercury,
Jupiter e, Rh, dY,

b) Venus, Mars, Mercury,
Jupiter b, HIA, 4,

Venus, Mercury, Mars, d) Mars, Venus, Jupiter,
Jupiter Xh, Y, e, Mercury T, X[,
Sewfd, gy

Where is duration of the day and night on Earthare

almost the equal?

gzﬁ;ﬁ?aﬁ?maﬁeﬁﬁrﬁimmmwm
?

At the Equator {HY W b) On the Poles ﬂ?ﬁtl?

R

On Line of Capricorn HHX d) On the  Arctic
R 3fTehfeeh T8/ IR

Line

In which state is the Mettur Dam located?
e 7y for T A srafya 82
Andhra  Pradesh 3% b) Tamil Nadu dfBeHIg

Karnataka ®-iicd d) Maharashtra HeRTY

General Awareness

ge Y G URUG (UNSC) ERT TTfbwar & fpsr
&nﬂaﬁaﬁmm%wﬁmm
T 2
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a)

c)

62.

a)
c)

63.

a)
c)

64.

a)

65.

a)
c)

66.

a)

c)

67.

a)

c)

Which terrorist from Pakistan has been listed as a
global terrorist by the United Nations Security
Council (UNSC)?

I IGAMI Syed b) SR IGHM Zakir

Rehmani Rehman

WWW Abdul d) 3Hegcl XHW 3HuleY Abdul
Rehman Makki Rauf Azhar

a3 & Mupated A HaRal 1 gar T R
W& oa § YUR & forg Raftp eitey ot arar

e di-a fFar g2

Which country’'s researchers have launched sniffing

robot to detect diseases and improve security

checks?

HRJ India b) =9 Russia
ORI Israel d) 3AR®T America
The Reserve Bank of India was established on -

YR fYord 9% &1 RITYET 9 B 18 At 2
1 April 1950 1 30T 1950  b) 1 April 1935 1 3/d 1935
1 March 1919 1 A 1919 d) 1 April 1951 1 3 1951

719 81 § PM HIGI 7 TIa@ g-aved WiAe $T Igured
FoT R fpar a2

Where has PM Modi inaugurated the Global
Investors Summit recently?

Rajasthan TSI b) Lucknow TGS

Bihar fagR d) Odisha 3if&=m

BT g 7 S emgefiush & v 9wl siavarge
BT A URT BT I TR &2

What is the rank of India in the recently released
ICAO's Aviation Safety Oversight Ranking?

45 9 45th b) 50 df 50th
55 i 55th d) 60 di 60th

What are the components of a CPU in a computer?

frdft Frger A Wig & g FH A A &2

Input, output and b) Control unit, primary and

processing g7Yc, 3{13cYc secondary memory ¢

T IR e, Ui qur fgdias
AR

Control unit, arithmetic d) None of the option is

logic unit and register correct ®ls fdbed TR

Hea  gie, T8I

A g quT IR

The resistance of a metal conductoris

TS YT & ATAD BT URIY .......|

Directly proportional its b) Directly proportional to

length Igp) ?*I'WIEF *® its cross sectional area

FET g 8 ITF  SURBIE P
&P o AT BIdT §

Inversely proportional to d) No option is correct CAE]

its length Bg?%amﬁ *® ﬁﬁqﬂ%ﬁ:{ﬁ%

68.

c)

69.

a)

c)

70.

a)

<)

71.

a)

72.

c)
73.
a)

c)

74.

a)
c)

75.

What kind of mirror would be best suited for use in
a solar cooker?

IR o IughT & fore wi-a1 gdur Ie Sugad
A

Concave 3{ddd b) Convex 3Tdl

Plane THd d) No option is correct Eb;]'s:
fadwey wgt T8l gl

The blood clot formed is due to presence of the

following?

IFd BT YFhT frge) IufRufa & HRUT 9741 82

Red Blood Cells @d Y& b) White Blood Cells g
DIRBY G HIRABY
Haemoglobinmﬁ? d) Plateletsm

71 € ® {5 & A fPam que 991 & dgd oS
TR’ & 91y HifileR $k2

Which bank recently partnered with ‘Garuda
Aerospace' under the Kisan Pushpak scheme?

YRdIg ®e  §F State b) d% i E@lﬁTBank of

Bank of India Baroda

gE d% 3T d) HDFC §& HDFC Bank
3'%13!'[ Union Bank of India

gfAL:M=3:53RM:N=2:38 d@IN:L=?
IfL:M=3:5and M: N = 2: 3, then N: L =?
2:1 b) 5:2

3:2 d) 1:2

10 oI 99, 15 TSI 3TH, 20 o9 Ja? 994 F forg
@ | I UAF |  HHA: 1/2 1/3 U7 1/4 BA
fy® 1T, @t Fa fFaa wa ITHI W AT R?

10 dozen apples, 15 dozen mangoes, 20 dozen
oranges were kept for sale. If 1/2 1/3 and 1/4 fruits
were sold out of each respectively, then how many
fruits are left?

420 b) 380
180 d) 360
frar Fifve: (s + 2)2

Expand: (s + 2)3
s3+3s? + 125+8 b) s®+3s? + 65+8

s® +652+125+8 d) s*+6s? + 6s+ 8

1

2§aﬁ=r@'cﬁ'ao-ramqywmﬁ 300 ?, TP A9 B
mrhsﬁﬁmwwﬁamuﬁmamm%

2_
The cost price of 2 dozen apples is Rs 300, with
each apple sold for Rs 15. So what is the profit
percentage?

30%
40%

b) 50%
d) 25%

T fAf3a y==R1f1 wR 2 aut # 10% aiffe == $1 °
T YA 2000 ATLRYT =TS fAerdr g1 afe g e==afr
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SCHOLARS ACADEMY

a)
c)

76.

a)
c)

77.

a)
c)

78.

a)

79.

a)
c)

80.

c)

81.

a)

TR Tehgfa TS arie aiford giar @ af §Ff IR
& TS BT 3R b= gim?

At a fixed amount of 2 years, at the rate of 10%
annual interest, you get Rs 2000 simple interest. If
compound interest is compounded annually on this
amount, what will be the difference between the
two types of interest?

200 RS/ =Ud b) 220 RS/ TUY
100 RS/ T d) 120 RS/ ®Ud
(tan -405°) &T HH -

The value of (tan -405°) is-

1 b) -1

w d) 0

360 YT 450 BT JIA FST UHES T 82
What is the greatest factor of 360 and 450?
90 b) 45

10 d) 9

o7 7 2 3o U9 T Ud 480 § WIS aUT 4 B9 F Tdbe
¥ e & = 100 # Ui Ydbe o411 ITDT Y %
feamm g

Pushpa bought 2 dozen pens for Rs. 480 and
according to the packet of 4 pans, sold for Rs. 100
per packet. What will be his profit%?

20% b) 16%
18% d) 25%
I 7 9 3t 3 991 F T T 6000 TUT FWO FHi 5

9 ¥ fiU ¥UA 8000 THHA WIYRU TSl HI
1t o3 ¥ IUR T, 3/ I A Fa T Ud 5220 =TS
iy fireht | sarer Y arffer @R 1 ufarra a Siforg)
Ram lent Shiva Rs.6000 for 3 years and Rs.8000 for
5 years for Krishna at an annual rate of simple
interest, he got a total of Rs.5220 interest from
both. Find the percentage of the annual rate of
interest.

6% b) 7%
8% d) 9%

% 18 fipe Sar fasrelt &1 @wi 6 fihe 2 U
RSTS A 10 fibe ¥ gl W R@ 71 95 3t o5 It
TS P Rz

An 18 feet tall electric pole is located 10 feet away
from the shadow of a 6 feet tall tree. What will be
the length of the shadow of the tree?

10 fthe/feet b) 7.5 fihe/feet
6 fthc/feet d) 5 fhe/feet

PR B, PR A T NI IHR A SI5dl 21 I PR A, 2
e ¥ 90 frardier 3t gt au Fdt @ @t IR B FY
TR ot grft

Car B runs at twice the speed of car A. If car A
covers a distance of 90 km in 2 hours, then what will
be the speed of car B?

90 fapHi/Eer / KM/ Hour  b) 80 faseil/Eer/ KM/ Hour

c)

82.

c)

83.

a)

c)

84.

a)

c)

85.

a)

c)

86.

c)

87.

a)
c)

88.

a)
c)

89.

100 fapHi/eiel/ KM/ Hour  d) 70 faHi/Eier/ KM/ Hour
280 dYUT 144 BT HEWH JHTIIAD (GCF) FTd BIfoIC|
Find the greatest common factor (GCF) of 280 and
144.

2 b) 8
6 d) 4

P, TP & &I 10 faAl # &% 9ar 8, Q 3 &1 &
15 &1 # #% g@ar 71 afe 3 A1y faew 5 i o
P B ¢, a1 d 3T S BT fba= URT R H3?

P can do a work in 10 days, Q can do the same work
in 15 days. If they work together for 5 days, how
much part of that work will they complete?

172 b) 2/3
1/3 d) 5/6

s Jfed 3 fal diex ufa o2 &t ufd @ gaar 81 a8
Y I A UgA & 91 S(uFT A B SR B 4T
8198 5 °U¢ d% dadT g1 SUP gRI a4 It T8 $d gt
T4 Biforg

A person walks at a speed of 3 km per hour. He
doubles his speed after reaching the halfway point.
He walks for 5 hours. Find the total distance
traveled by him.

18 Tt /km by 15 f&.d/km
20 fop 4t /km d) 9 & /km
fFrafafea & ¥ e T smRId Fa A §2

Which of the following is in ascending order?
2/3,3/4,4/5,1/2 b) 3/4,4/5,1/2,2/3
1/2, 2/3, 3/4,4/5 d) 4/5,1/2,2/3,3/4

1739 § HH ¥ $H AT Wil 9T & 9§ 11 F gofa:
favfora 8t smee

What is the least to be added in 1739 that it be
completely divided by 11?

11 b) 2

1 d) 10

3 el BT TYNH JHIG™ (L.C.M.) 78 § 3R 39
TE3M P U2 : 3 81 SABT ANTHH FId BT
The least common multiple (LCM) of two numbers
is 78 and the ratio of these numbers is 2: 3. Find
their sum

60 b) 26
65 d) 39

TP o 72 fHaf /¢ 3t ara ¥ gadt 81 15 Abs &
TP GRT 97 PI T1E pet g3 bt 22

A train runs at a speed of 72 km / h. What is the
total distance covered by it in 15 seconds?

150 HIex 150 m b) 300 iR 300 meters
200 HIeX 200 meters d) 100 iR 100 meters

fE x2 + 17x+72 = 0 T x BT U T HM?
If x%+ 17x+72 = 0,what will be the value of x?
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SCHOLARS ACADEMY

a)

90.

a)
c)

91.

a)
c)

92.

a)
c)

93.

a)
c)

94.

a)
c)

95.

a)
c)

96.

a)
c)

-9478-90r8
-847-9 -8 or-9

b) -84719-80r9
d) 8dT980r9

4,8,7,?2 1 ilﬂﬂfﬁ'qﬁ /(4th proportional)------------

-------- is
6 b) 12
14 d) 16

9 3NXd TH HTd 1 50 & § W H GFall 3, Al 6
3R 3R wer § o€ At 7§ P fpan 7 A g &t
SRR

9 women can complete a work in 50 days, if 6
women are increased, how many days will this work
be completed?

30 b) 20

15 d) 25

gfe &t ot & fawof & avars 1372 gfhe € ot
IHPT GAEd faa-r ghm

If the length of the diagonal of a square is 13V2
units, what will be its area?

104 9 gfie/ Square unit  b) 169 W FfE/ Square unit
338 EITf?Iﬁ'C’/ Square unit d) 676 a"f?lﬁ?/ Square unit

Tlﬁ cosf=4/5 %, @ (secB+cosech) = ?
If cos® =4/5, then (secB +cosecB) =?

7/5 b) 15/12
35/12 d) 12/5
A student was asked to find the arithmetic mean of

the numbers 3,11,7,9,15,13, 8,19,17,21,14 and x. He
found the mean to be 12. What should be the
number in place of x ?

U$ O P 3,11,7,9,15,13, 8,19,17,21,14 3R x &
3P BT 3 T [T B & T H71 1T AT|
I 12 91 T4 {541 | x & I W G- AT g
Tfee?

3 b) 7

17 d) 31

gfe |t fagai (0, 5) TUT (x, 0) & &HF Ft gt 13 THD
B, @ x fPud RIeR g 2

If the distance between two points (0, 5) and (x, 0)
is 13 units, then what x will be equal to?

10 b) +10

12 d) +12

The total of the ages of Jayant, Prem and Saransh is
93 years. Ten years ago, the ratio of their ages was2
: 3 : 4. What is the present age of saransh ?

ST, U9 3R WRI $1 39 BT $d 4NT 93 I9 &1 &9
T UGd, SAP! 3T PT 3JUTd 2: 3: 4 4TI HRI B
TIATH MY FAT 8?
24 years 24 {1

34 years 34 9l

b) 32 years 32 9Ic1
d) 38 years 38 HIdl

97.

a)

c)

98.

a)

c)

99.

a)

c)

100.

a)
c)

The value of [(10)!5° + (10)2¢] is :
[(10)%° + (10)4¢] T A &:

1000 b) 10000
100000 d) 10°

gfe fplt ot &Y ud® Yo # 10% #t gfF X § WY
dl 59 &Fwd H forat gfg git 2

If each side of a square is increased by 10%, then its
area will increase by how much?

10% b) 21%

2% d) 100%

14 FH YT a9 o & Sfcia G 914 a1 sifread
a1 & 99 BT &F%d FTER 2

What will be the area of the circle of maximum
radius to be drawn inside a square of 14 cm side?

154 I I, b) 84 ¥ T,

204 aif 3t d) IR T8l
fFrafaf@a vl &1 IR A F g § it aiferet &1
HATTYA D AT B,

Study the given table carefully to answer the
following questions.

Ui SR & Uig - FgUET § U ard
B! B H&I

Number of students studying in five different
section of five institutes is

317;5"1!
R HER FiAwE Fmm 5

.....

Tt 3faa e frast 27
Find the average number of students studying in
commerce institute from all institutes?

348 b) 356
344 d) 360
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